





GR = g7, xinF (5.12)

Thus, of all foragers reentering the foraging process, the fraction
8.7/ GR are recruited to patch x on average (see Section 5.10).

Since foragers abandon patch r at rate fn,, to ensure that the num-
ber of employed foragers remains fairly constant, workers must reen-
ter the foraging process at the average rate

N =3fn, xinF (5.13)

Thus, the system of differential equations

dn, /dt = ﬂv,ng—R? - fn, for each f, in F (5.14)

describes the allocation process.
In a steady state, the average rates of recruitment and abandon-
ment must balance, and so

n f N
=X =g L T 5.

e T (515)
for each active patch x. Thus, in a steady state the average trip-time
of each active patch x must be proportional to v, = g_(f/f,), that is,

(5.16)

for each patch x. The term v, is ameasure of the value of patch x, since
as patch quality increases, g, (the average dance duration) will rise
and fand f, (the per capita abandonment rate) will fall. In summary,
over time a colony converges to the allocation with

v GR

a3 (5.17)
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